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g§H${bV narjm – II 

SUMMATIVE ASSESSMENT – II 

J{UV  
(Ho$db ZoÌhrZ narjm{W©`m| Ho$ {bE) 

MATHEMATICS 
  (FOR BLIND CANDIDATES ONLY) 

{ZYm©[aV g_` : 3 KÊQ>o A{YH$V_ A§H$ : 90 

Time allowed : 3 hours Maximum Marks : 90 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 11 h¢ & 
 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥ð> na 

{bI| & 
 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >31 àíZ h¢ & 
 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 
 Bg  àíZ-nÌ  H$mo n‹T>Zo Ho$ {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©• 

_| 10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nÌ H$mo n‹T>|Jo 
Am¡a Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 11 printed pages. 

 Code number given on the right hand side of the question paper should be 
written on the title page of the answer-book by the candidate. 

 Please check that this question paper contains 31 questions. 

 Please write down the Serial Number of the question before 
attempting it. 

 15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on 

the answer-book during this period. 
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gm_mÝ` {ZX}e : 

(i) g^r àíZ A{Zdm`© h¢ & 

(ii) Bg àíZ-nÌ _| 31 àíZ h¢ Omo Mma IÊS>m|  A, ~, g Am¡a X _| {d^m{OV h¢ & 

(iii) IÊS> A _| EH$-EH$ A§H$ dmbo 4 àíZ h¢, IÊS> ~ _| 6 àíZ h¢ {OZ_| go àË`oH$ 
Xmo-Xmo A§H$ H$m h¡ & IÊS> g _| 10 àíZ VrZ-VrZ A§H$m| Ho$ h¢ & IÊS> X _|  
11 àíZ h¢ {OZ_| go àË`oH$ Mma-Mma A§H$ H$m h¡ &   

(iv) H¡$bHw$boQ>a H$m à`moJ d{O©V h¡ &  

(v) Ohm± Amdí`H$ hmo,  = 
7

22  H$m à`moJ H$s{OE &  

General Instructions : 

(i) All questions are compulsory. 

(ii) The question paper consists of 31 questions divided into four 

sections  A, B, C and D. 

(iii) Section A contains 4 questions of 1 mark each, Section B 

contains 6 questions of 2 marks each, Section C contains 10 

questions of 3 marks each and Section D contains 11 questions 

of 4 marks each. 

(iv) Use of calculators is not permitted. 

(v) Use  = 
7

22
, wherever needed.  

IÊS> A 

SECTION A 

àíZ g§»`m 1 go 4 VH$ àË`oH$ àíZ 1 A§H$ H$m h¡ & 
Question numbers 1 to 4 carry 1 mark each.  

1. `{X {ÛKmV g_rH$aU 7x2 + kx + 7 = 0 H$m EH$ _yb 
7

1
 h¡, Vmo k H$m _mZ kmV 

H$s{OE &  
If one root of the quadratic equation 7x2 + kx + 7 = 0 is 

7

1
, then 

find the value of k.   
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2. EH$ {~ÝXþ P EH$ d¥Îm Ho$ Ho$ÝÐ go 29 go_r Xÿa h¡ & `{X d¥Îm H$s {ÌÁ`m 20 go_r h¡, 

Vmo P go d¥Îm na ItMr JB© ñne©-aoIm H$s bå~mB© kmV H$s{OE &  

A point P is at a distance of 29 cm from the centre of a circle of 

radius 20 cm. Find the length of the tangent drawn from P to 

the circle. 

3. `{X {XZ Ho$ {H$gr g_`, ^y{_ na D$Üdm©Ya I‹S>o EH$ I§^o H$s D±$MmB© VWm BgH$s 

^y{_ na n‹S> ahr N>m`m H$s bå~mB© _| 1:3  H$m AZwnmV h¡, Vmo Cg g_` gy`© 

H$m CÝZ`Z H$moU kmV H$s{OE & 

If at some time of the day, the ratio of the height of a vertically 

standing pole to the length of its shadow on the ground is 

1:3 , then find the angle of elevation of the Sun at that time. 

4. Xmo {d{^Þ nmgm| H$mo EH$ gmW \|$H$Zo na, XmoZm| g§»`mAm| H$m `moJ\$b 3 go H$_ 

AWdm 11 go A{YH$ AmZo H$s àm{`H$Vm kmV H$s{OE & 

Find the probability of getting the sum of two numbers, less 

than 3 or more than 11 when a pair of distinct dice is thrown 

together. 

IÊS> ~ 

SECTION B 

 

àíZ g§»`m  5 go 10 VH$ àË`oH$ àíZ Ho$ 2 A§H$ h¢ & 

Question numbers 5 to 10 carry 2 marks each. 

5. x-Aj na Cg {~ÝXþ Ho$ {ZX}em§H$ kmV H$s{OE Omo {~ÝXþAm| (– 2, 5) VWm (2, – 3) 
go g_mZ Xÿar na h¢ &  

Find the coordinates of the point on x-axis, which is 

equidistant from the points (– 2, 5) and (2, – 3). 
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6. {~ÝXþAm| A (7, – 2) VWm B (1, – 5) H$mo {_bmZo dmbo aoImIÊS> H$m g_{Ì^mOZ 

H$aZo dmbo {~ÝXþAm| Ho$ {ZX}em§H$ kmV H$s{OE & 

Find the coordinates of the points of trisection of the line 

segment joining the points A (7, – 2) and B (1, – 5). 

7. k H$m dh _mZ kmV H$s{OE {OgHo$ {bE {ÛKmV g_rH$aU kx (x – 2) + 6 = 0 

Ho$ _yb g_mZ hm| & 
Find the value of k for which the roots of the quadratic 

equation kx (x – 2) + 6 = 0 are equal. 

8. `{X g§»`mE± 2p – 1, 3p + 1, 11 EH$ g_mÝVa lo‹T>r _| h¢, Vmo p H$m _mZ kmV 

H$s{OE & AV: g§»`mE± kmV H$s{OE & 
Find the value of p for which the numbers 2p – 1, 3p + 1, 11 are 

in A.P. Hence find the numbers. 

9. {gÕ H$s{OE {H$ {H$gr d¥Îm Ho$ {H$gr ì`mg Ho$ {gam| na ItMr JB© ñne©-aoImE± 

g_m§Va hmoVr h¢ & 

Prove that the tangents drawn to a circle at the end points of a 

diameter are parallel to each other. 

10. `{X EH$ ~mø {~ÝXþ P go Ho$ÝÐ O dmbo d¥Îm na Xmo ñne©-aoImE± PA VWm PB Bg 

àH$ma ItMr JB© h¢ {H$  BPA = 120 h¡, Vmo Xem©BE {H$ OP = 2PA. 

If, from an external point P of a circle with centre O, two 

tangents PA and PB are drawn such that  BPA = 120, then 

show that OP = 2PA. 
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IÊS> g 

SECTION C 

àíZ g§»`m 11 go 20 VH$ àË`oH$ àíZ Ho$ 3 A§H$ h¢ & 
Question numbers 11 to 20 carry 3 marks each.  

11. Xem©BE {H$ x = 
ad

bc
– , {ÛKmV g_rH$aU ad

2
 










d

c2

b

ax  x + bc2 = 0 H$m 

EH$ hb h¡ &  

Show that x = 
ad

bc
–  is a solution of the quadratic equation  

ad
2
 










d

c2

b

ax
 x + bc2 = 0. 

 

12. `{X EH$ g_mÝVa lo‹T>r H$m N>R>m nX eyÝ` h¡, Vmo Xem©BE {H$ BgH$m 33dm± nX 

BgHo$ 15d| nX H$m VrZ JwZm h¡ & 

If the sixth term of an A.P. is zero, then show that its 33rd 

term is three times its 15th term.  

13. 21 go_r {ÌÁ`m dmbo d¥Îm Ho$ Cg {ÌÁ`IÊS> H$m joÌ\$b kmV H$s{OE {OgH$m 

Ho$ÝÐ na H$moU 120 h¡ &  

Find the area of the sector of a circle of radius 21 cm which 

makes an angle of 120 at the centre. 

14. EH$ _moQ>a gmB©H$b Ho$ n{hE H$s {ÌÁ`m 35 go_r h¡ & 66 {H$_r/K§Q>m H$s Mmb go 

MbZo Ho$ {bE Bg n{hE H$mo à{V {_ZQ> {H$VZo MŠH$a bJmZo hm|Jo ?  

The wheel of a motor cycle is of radius 35 cm. How many 

revolutions per minute must the wheel make so as to keep a 

speed of 66 km/hr ?  



30(B) 6  

15. 21 go_r ì`mg dmbo YmVw Ho$ EH$ R>mog Jmobo H$mo {nKbmH$a 3·5 go_r {ÌÁ`m VWm 

3 go_r D±$MmB© dmbo N>moQ>o e§Hw$ ~ZmE JE & Bg àH$ma ~Zo e§Hw$Am| H$s g§»`m kmV 

H$s{OE & 

A solid metallic sphere of diameter 21 cm is melted and recast 

into a number of smaller cones, each of radius 3·5 cm and 

height 3 cm. Find the number of cones so formed.  

16. 7 go_r ^wOm dmbo EH$ KZmH$ma ãbm°H$ Ho$ D$na EH$ A{YH$V_ g§^d ì`mg dmbm 

AY©Jmobm aIm hþAm h¡ & Bg àH$ma ~Zo R>mog H$s n¥îR>r` joÌ\$b kmV H$s{OE &   

A hemisphere of maximum possible diameter is placed over a 

cuboidal block of side 7 cm. Find the surface area of the solid so 

formed.  

17. 6 _r. Mm¡‹S>r Am¡a 1·5 _r. Jhar EH$ Zha _| nmZr 10 {H$_r/K§Q>m H$s Xa go ~h 

ahm h¡ & 30 {_ZQ>> _|, `h Zha {H$VZo joÌ\$b H$s qgMmB© H$a nmEJr, O~{H$ 

qgMmB© Ho$ {bE 8 go_r Jhao nmZr H$s Amdí`H$Vm hmoVr h¡ ? 

Water is flowing into a canal, 6 m wide and 1·5 m deep, at the 

rate of 10 km/hr. How much area will it irrigate in 30 minutes, 

if 8 cm of standing water is required for irrigation ?  

18. EH$  ABC H$s ^wOmAm| BC, CA VWm AB Ho$ _Ü`-{~ÝXþ H«$_e: D (3, 4),  

E (8, 9) VWm F (6, 7) h¢ & {Ì^wO Ho$ erfm] Ho$ {ZX}em§H$ kmV H$s{OE &  

The mid-points of the sides BC, CA and AB of a  ABC are 

D (3, 4), E (8, 9) and F (6, 7) respectively. Find the coordinates 

of the vertices of the triangle.  
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19. ^y{_ Ho$ EH$ {~ÝXþ go EH$ 20 _r. D±$Mo ^dZ Ho$ {eIa na bJr EH$ g§Mma _rZma 
Ho$ Vb Am¡a {eIa Ho$ CÝÝ`Z H$moU H«$_e: 45 Am¡a 60 h¢ & _rZma H$s D±$MmB© 
kmV H$s{OE & ( 3 = 1·732 br{OE)  

From a point on the ground, the angles of elevation of the 

bottom and top of a communication tower fixed on the top of a 

20 m high building are 45 and 60 respectively. Find the 

height of the tower. (Take 3 = 1·732). 

20. EH$ Iob _| EH$ énE Ho$ {gŠHo$ H$mo VrZ ~ma CN>mbm OmVm h¡ Am¡a àË`oH$ ~ma H$m 
n[aUm_ {bI {b`m OmVm h¡ & H$_-go-H$_ Xmo ~ma {MV àmßV hmoZo na hZr\$ Iob 
OrV OmEJm & hZr\$ Ho$ Iob _| hma OmZo H$s àm{`H$Vm n[aH${bV H$s{OE &  

In a game, a one-rupee coin is tossed three times and the 

result is recorded every time. Haneef will win, if he gets at 

least two heads. Calculate Haneef’s probability of losing the 

game. 

IÊS> X 

SECTION D 

 

àíZ g§»`m 21 go 31 VH$ àË`oH$ àíZ Ho$ 4 A§H$ h¢ & 

Question numbers 21 to 31 carry 4 marks each. 

 

21. x Ho$ {bE hb H$s{OE :  

 )4,2x(;
3

10

4–x

3–x

2–x

1–x
  

Solve for x : 

 )4,2x(;
3

10

4–x

3–x

2–x

1–x
  
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22. EH$ ì`{º$ Am`w _| AnZo nwÌ go 
2

1
3  JwZm ~‹S>m h¡ & `{X CZ XmoZm| H$s Am`w Ho$ 

dJm] H$m `moJ\$b 1325 h¡, Vmo {nVm VWm nwÌ H$s Am`w kmV H$s{OE &  

A man is 
2

1
3  times as old as his son. If the sum of the squares 

of their ages is 1325, find the ages of the father and the son.   

 

23. {Z_m©U H$m`© go gå~pÝYV {H$gr R>oHo$ _|, EH$ {ZpíMV {V{W Ho$ ~mX H$m`© _| {db§~ 

hmoZo na, Ow_m©Zm bJmZo H$m àmdYmZ Bg àH$ma h¡ :  

 nhbo {XZ Ho$ {bE < 200, Xÿgao {XZ Ho$ {bE < 250, Vrgao {XZ Ho$ {bE  

< 300 BË`m{X &  

 EH$ R>oHo$Xma H$mo Ow_m©Zo Ho$ ê$n _| {H$VZr am{e AXm H$aZr n‹S>oJr, `{X dh Bg 

H$m`© _| 10 {XZ H$m {db§~ H$a XoVm h¡ ? H$moB© ^r H$m`© g_` na H$aZm Š`m| 

Amdí`H$ h¡ ?  

In a construction work, a contractor has to pay penalty for 

delay beyond a certain date as follows :  

< 200 for the first day, < 250 for the second day, < 300 for the 

third day and so on.  

How much money does the contractor have to pay as penalty, if 

he has delayed the work by 10 days ? Why is completing any 

work on time a must ?  

 

24. {gÕ H$s{OE {H$ {H$gr ~mø {~ÝXþ go d¥Îm na ItMr JB© ñne©-aoImAm| H$s 

bå~mB`m± ~am~a hmoVr h¢ &   

Prove that the lengths of tangents drawn from an external 

point to a circle are equal. 
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25. EH$ d¥Îm EH$  ABC H$s ^wOm BC H$mo EH$ {~ÝXþ P na ñne© H$aVm h¡ VWm 
^wOmAm| AB VWm AC H$mo ~‹T>mZo na H«$_e: Q VWm R na ñne© H$aVm h¡ & {gÕ 

H$s{OE {H$ AQ = 
2

1  ( ABC H$m n[a_mn) &  

A circle is touching the side BC of a  ABC at P and touching 

the sides AB and AC when produced at Q and R respectively. 

Prove that AQ = 
2

1
 (perimeter of  ABC). 

26. EH$ d¥Îm Ho$ ~mha pñWV EH$ {~ÝXþ go d¥Îm na ñne©-aoImAm| H$s aMZm H$aZo Ho$ 
MaU {b{IE & 

Write the steps of construction to construct the tangents to a 

circle from an external point.  

27. 7 _r. D±$Mo ^dZ Ho$ {eIa go EH$ Ho$~b Q>mda Ho$ {eIa H$m CÞ`Z H$moU 60 h¡ 
Am¡a BgHo$ nmX H$m AdZ_Z H$moU 45 h¡ & Q>mda H$s D±$MmB© kmV H$s{OE & 

From the top of a 7 m high building the angle of elevation of 

the top of a cable tower is 60 and the angle of depression of its 

base is 45. Find the height of the tower. 

28. `{X A (– 7, 5), B (– 6, – 7), C (– 3, – 8) Am¡a D (2, 3) EH$ MVw^w©O 
ABCD Ho$ erf© h¢, Vmo MVw^w©O H$m joÌ\$b kmV H$s{OE &  

If A (– 7, 5), B (– 6, – 7), C (– 3, – 8) and D (2, 3) are the 

vertices of a quadrilateral ABCD, then find the area of the 

quadrilateral.   
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29. YmVw H$s MmXa go ~Zm Am¡a D$na go Iwbm EH$ ~V©Z e§Hw$ Ho$ {N>ÞH$ Ho$ AmH$ma 

H$m h¡, {OgH$s D±$MmB© 16 go_r h¡ VWm {ZMbo Am¡a D$nar d¥Îmr` {gam| H$s {ÌÁ`mE± 

H«$_e: 8 go_r Am¡a 20 go_r h¢ & < 35 à{V brQ>a H$s Xa go, Bg ~V©Z H$mo nyam 

^a gH$Zo dmbo XÿY H$m _yë` kmV H$s{OE &  

A container made of a metal sheet open at the top is of the 

form of frustum of cone, whose height is 16 cm and the radii of 

its lower and upper circular edges are 8 cm and 20 cm 

respectively. Find the cost of milk at the rate of < 35 per litre 

which can fill it completely.  

30. Vme Ho$ 52 nÎmm| H$s JÈ>r _| go hþHw$_ Ho$ ~mXemh, Jwbm_ VWm 10 Ho$ nÎmo Jw_ hmo 

JE h¢ & eof nÎmm| H$mo AÀN>r àH$ma \|$Q>Zo Ho$ ~mX CZ_| go EH$ nÎmm {ZH$mbm  

J`m & àm{`H$Vm kmV H$s{OE {H$ `h nÎmm  

(i) EH$ bmb a§J H$m nÎmm h¡, 

(ii) EH$ H$mbo a§J H$m Jwbm_ dmbm nÎmm h¡, 

(iii) EH$ bmb a§J H$m ~mXemh h¡, Am¡a 

(iv) nmZ H$m 10 dmbm nÎmm h¡ & 

The king, the jack and the 10 of spades are lost from a pack of 

52 cards and a card is drawn from the remaining cards after 

shuffling. Find the probability of getting a  

(i) red card,  

(ii) black jack, 

(iii) red king, and 

(iv) 10 of hearts.  
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31. 12 go_r {ÌÁ`m dmbo EH$ d¥Îm H$s H$moB© Ordm Ho$ÝÐ na 60 H$m H$moU A§V[aV 

H$aVr h¡ & g§JV d¥ÎmIÊS> H$m joÌ\$b kmV H$s{OE & ( 3 = 1·73 br{OE) 

A chord of a circle of radius 12 cm subtends an angle of 60 at 

the centre of the circle. Find the area of the corresponding 

segment of the circle. (Take 3 = 1·73) 

 


